

Email: enkaypvtltd@gmail.com Web: www.enkay.co.in

Quotation			
Quotation No.:1988234827	Date:02/06/2025	Customer No.: EEIPL85	
Ref No.:EN_QUO_ELT_2025-26			

Customer:

M/S ESWARAN LAB TECHNICAN

Mob.: 7397615146

Email: kvvtdgl@gmail.com

District Rural Development Agency, Dindigul, Tamil Nādu-624004

State: Dindigul City: Tamilnadu

Contact:

Ms. Anjali (Customer Relationship Manger) , Mob. +91 8766328821

Mr. Nitin Tully , Mob. +91 88000 22222 Mr. Varun Tully , Mob. +91 98118 00359

Email: enkaypvtltd@gmail.com, Info@enkaymachine.com

Quotation Summary:

Net Amount	INR ₹ 1,406,285.00			
Quotation Exclusive of GST charges.				
Part shipments to be allowed in case of order value exceeding Rs. 1 Crore (INR) OR USD 200,000/				
Standard Installation charges @2500/-per day on (Eight Hour Working) within the India OR USD 50/- per day outside of India, does not include lodging and fooding.				
Price Valid until 02/07/2025, After this date they will be subjected to re-negotiation.				
Country of Origin: India				

Payment Terms:

Bank Details	Information
Company	ENKAY ENTERPRISES
Bank Name	Union Bank of India
Account Name	СС
IFSC	UBINO53080



Email: enkaypvtltd@gmail.com Web: www.enkay.co.in

Bank Details	Information
Account No.	CC 308005010132002

#	Item Description	Item	HSN Code	QTY	Unit Rate (INR)	Amount (INR)
1	Model No (EKE 045) Shrinkage Limit Ref. Standard : IS:2720 (Part 6), 10077, ASTM D427,	<u>View Item</u>	9024	1	2800	2,800.00
2	Model No (EKE 112) Proctor Compaction Apparatus Manual Ref. Standard: BS: 1377	View Item	9024	6	4800	28,800.00
3	Model No (EKE 334) Consistency And Workability Slump Test Apparatus Ref. Standard: IS:7320, BS:1881, ASTM C143,	View Item	9024	1	3600	3,600.00
4	Model No (EKE 390) Air Permeability Test Apparatus (Blaine Type) IS: 5516 Ref. Standards : IS: 1727,	View Item	9024	1	7000	7,000.00
5	Model No (EKE 394) Vicat Method Vicat Apparatus – IS 5513 Ref. Standard : IS:2542 (Part	View Item	9024	1	4000	4,000.00
6	Model No (EKE 400) Soundness of Cement and Hydrated Lime Le- Chatelier Apparatus EKE 400 The soundness	View Item	9024	1	12000	12,000.00
7	Model No (EKE 401) Le - Chatelier Flask EKE 401 Used for the determination of	View Item	9024	1	1200	1,200.00
8	Model No (EKE 457) Crushing Value Apparatus Ref. Standard – IS 9376 EKE 457 The equipment consist	View Item	9024	1	9000	9,000.00
9	Model No (EKE 1400) Digital Hot Plate 300 x 300 mm, 220-240 V 50-60	View Item	9024	1	6000	6,000.00
10	Model No (EKE 0163) Wet Washing Sieves - Size : 75μm (No.200) Φ 200 x	View Item	9024	2	1300	2,600.00
11	Model No (EKE 0900) Sand Replacement Method Sand Replacement Test Set 100 mm BS Ref. Standard	View Item	9024	1	3600	3,600.00
12	Model No (EKE 0150) Universal Moisture Tester (Carbide Meter) Ref. Standard: BS 6576 EKE 0150 The	View Item	9024	1	7500	7,500.00

B-143/1, Mayapuri Phase 1, New Delhi-110064, India



Email: enkaypvtltd@gmail.com Web: www.enkay.co.in

13	Model No (EKE 343 -) Cube Moulds - 100 mm EKE 343 ENKAY Moulds are made	View Item	9024	6	700	4,200.00
14	Model No (EKE 428) Gauging Trowel Ref. Standard IS:4031 EKE 428 100 to 150 mm long blade	View Item	9024	1	250	250.00
15	Model No (EKE 1300) Borosilicate Glass Beakers 10 ml EKE 1300 Borosilicate Glass Beakers 10 ml	View Item	9024	1	440	440.00
16	Model No (EKE 1015) Graduated Glass Cylinder – 100 ml EKE 1015 Graduated Glass Cylinder 100	<u>View Item</u>	9024	1	65	65.00
17	Model No (EKE 1315) Borosilicate Glass Beakers 100 ml EKE 1315 Borosilicate Glass Beakers 100 ml	<u>View Item</u>	9024	1	690	690.00
18	Model No (EKE 4000) Water Bath 15 Litter Capacity, 220 – 240 V 50-60	<u>View Item</u>	9024	1	18000	18,000.00
19	Model No (EKE 1250-) Digital Laser Thermometer EKE 1250- Digital Laser Thermometer, -50°C to +650°C	View Item	9024	2	5000	10,000.00
20	Model No (EKE 1330-) Borosilicate Glass Beakers 600 ml EKE 1330- Borosilicate Glass Beakers 600 ml	View Item	9024	1	290	290.00
21	Model No (EKE 2001/Y) Pan & Cover - Φ 200 mm x 50 EKE 2001/Y Φ	View Item	9024	6	250	1,500.00
22	Model No (EKE 1670) Hammer 1.5 kg EKE 1670 Hammer 1.5 kg , Dimensions : 100	View Item	9024	2	550	1,100.00
23	Model No (EW 1000C) Hydraulic Universal Testing Machine (Open Head Design (Single Acting Ram) Main	View Item	9024	1	1250000	1,250,000.00
24	Model No (EKE 0648-1) EKE 0628 The Electronic Analytical Balance set the standard in terms	View Item	9024	1	7000	7,000.00
25	Model No (EKE-BEN-00BEN) EKE-BEN-00BEN Benzene is a colorless or light-yellow liquid chemical at room	<u>View Item</u>	2902	10	220	2,200.00
26	Model No (EKE-GI TRAY) EKE-GIR TRAY GI Tray, Size: 450x300mm	<u>View Item</u>	9024	2	850	1,700.00
27	Model No (EKE-MURCURY) EKE-Murcury The chemical symbol for Mercury is Hg. Mercury was named	View Item	2805	1	18500	18,500.00
28	Model No (EKE-SAND GRADE-II) Our Standard Sand Grade-II is a high-purity, laboratory-tested sand designed	View Item	2505	1	2250	2,250.00



Email: enkaypvtltd@gmail.com Web: www.enkay.co.in

Net Amount		1,406,285.00
In Words	In Words ONE MILLION, FOUR HUNDRED AND SIX THOUSAND, TWO HUNDRED AND EIGHTY-FIVE	

SUPPLY CONDITIONS:

PRICES :	Net Ex-Works Delhi/ IMT Manesar.
TAXES:	GST 18% extra on the quoted prices for domestic / Inland orders.
FREIGHT :	Extra at actual and shall be payable by you or as negotiated.
PACKING CHARGES :	2.5% Extra on the Quoted Ex-Works Prices and shall be payable by you.
Delivery :	Within 10 - 12 weeks from the date of receipt of your Advance.
Payment :	50% advance and balance prior to dispatch .
Warranty :	24 Months against any manufacturing defect.
Pre Dispatch Inspection:	At our works prior to dispatch if required but shall be at your cost.
Installation:	In case of civil foundation is required, the same shall be prepared by you as per the drawing furnished by us. Standard Installation charges already provided and mentioned.
Training:	If required shall be Chargeable extra as negotiated.

IMPORTANT NOTE

- Equipments Once Sold would not be taken back in any Condition or Circumstances.
- In case of any damage Shortcoming is found the same shall be reported to us within 5 working days from the date of receipt of Equipments otherwise it would be presumed that everything is found to be acceptable and in compliance to PO.
- In case of any Technical & Commercial discrepancy the same shall be clarified before the placement of your order and remittance of Advance.
- All the Equipment supplied shall be exactly as per our submitted Quotation/ Negotiated Specs.

Please feel free to contact us for any further information or clarification. We look forward to receive your valuable order and assure you of our best services always.



ENKAY ENTERPRISES (INDIA) PVT. LTD.

B-143/1, Mayapuri Phase 1, New Delhi-110064, India



Email: enkaypvtltd@gmail.com Web: www.enkay.co.in



Name: Varun Tully Date: 04-06-2025

Address: 605, PADMA TOWERS - II, 22 RAJENDRA PLACE NEW DELHI-110008

Phone: +91-11-41539634 / +91-88000-22222 / +91-98118-00359

Email: enkaypvtltd@gmail.com , Info@enkaymachine.com

Visit us: www.enkay.co.in

 $\ensuremath{\mathbb{C}}$ 2025 Enkay Enterprises (INDIA) PVT LTD. All rights reserved.